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Porcentajes de numeros (nimero faltante)

Nombre:

x 40% = 25.2
x 30% = 14.7
x 40% = 22.8
x 50% = 33
x50% =5

x 60% = 58.2
x90% = 6.3
x 30% = 13.5
x 40% = 8.4
x70% = 26.6

Fecha:

x 40% = 40

x 10% = 8

x 30% = 28.5
x 80% = 14.4
x30% =21.6
x70% = 39.9
x 10% = 8.4
x 90% = 65.7
x 70% = 59.5
x70% = 32.2
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Porcentajes de numeros (nimero faltante)

Nombre:

63 x40% = 25.2

49 x 30% = 14.7

57 x40% = 22.8

66 x 50% = 33

10 x 50% =5

97 x 60% = 58.2

7x90% = 6.3

45 x 30% = 13.5

21 x40% = 8.4

38 x70% = 26.6

Fecha:

100 x 40% = 40

80 x 10% = 8

95 x 30% = 28.5

18 x 80% = 14.4

72 x30% = 21.6

57 x70% = 39.9

84 x 10% = 8.4

73 x90% = 65.7

85 x70% = 59.5

46 x 70% = 32.2
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